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QUESTIONS THAT WEREN'T EXAMINED IN THE AQA 9-1 GCSE MATHS PAPER 1 OR 2 BUT WE CANNOT
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. 1 .
Q1. How many minutes are there in 4 > hours? Circle your answer.

(1)
450 290 270 425

brockefs |n these calculations to make them correct.
(|) 5 12 +

1
(i) 6 <l + 37 - 5 = 289 N

(1)

102 x 67
5.42

Q3. By rounding each number to the nearest 10, estimate the answer to

XL toG x30 - 30C0
S S

Q4. Circle the expression which does not simplify to y3

You must show your working.

I

1LOO (2)

(M
y xy xy yt+y yZxy

J° g° g2

Q5. The diagram represents a solid made from seven centimetre cubes.

On the centimetre grid below, draw a plan of the solid.

Z

7
ZZz

(2)
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Q6. On the grid draw a shape that is a reflection of shape A.

Show your mirror line.

VWA

éapmulda@o .
é& ool e

o,‘@ﬂwe

(1)
_ /5 _ (-2
Q7.a= (_2) and b (3) 5--2 S = |
Circle the vector a - b -2 - 3 -S
(1)
-3 7
(Z5) (1)
3 7
(1) (s)
Q8. The diagram shows three points , @ and Ron a 1¢cm grid. Y
(a) Write down the coordinates of P. 5
P
(au) :
(b) Write down the coordinates of Q. < S
(-1, 3) 25
(1) :
(c) On the grid, mark the point Sso that PQRS is a rhombus.
(1) -
(d) Work out the area of the rhombus PQRS. 2 -1 0 1 Z 3 4 5 ‘6 =x
bem® |
(2)
(e) Write down the equation of the line PR.
(1)

JQ,:(Z
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Q9. The bar chart shows information about how 20 A
students travel to school.
8
7
Show the information in a pictogram.
6
Use the key given.
Frequency 5
[3] 4
4
3
2
¢
1 |
0
Bus Car Train Walk

Key : O represents 2 students

- [0000
« 1000
Train G
w OO0

Q0. The diagram shows a shape on a centimetre grid. r ‘

(a) Find the area of the shape. /.///A////
50"2 (1) 4. 1

(b) Find the perimeter of the shape.

[2em

(1)

(c) Shade 60% of the shape.

0% - S SqUao

Q1. Circle the equation of a line that is parallel to y = §x — 2

— 'dradu.mt =S

y=2x-5 f:+2 ) y=3x-2 y=-1x-2
X v % X
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Q12  Point A has coordinates (-4, 9) Point B has coordinates (1, 5)
Find the coordinates of the midpoint of A8.

-4t a+ S - (-1-5, 3
2 ) 2 ( | S) ) 2)

Q13. Express 825 as a product of its prime factors.
o ure. FACT’ bukan 89¢
n (xjcwcaﬁwloda /\
©) e ) )
O’ 3x 5l

o é
Q14
VA

6
(a) Describe fully the single transformation that 4
maps shape P onto shape Q. 4

itha Lnae | U

(2)

g 1 z
b) On the grid, enlarge shape P with scale factor 3 +
and centre O.
(2)—2—1<x1234<67891§-
-1
(c) Onthe grid below, rotate shape R 90° P
anticlockwise with centre (0, 1) -2
(2) -3

A 4

-4

-5

-6
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Q15. Lisa sees a dress in a sale. The normal price of the dress is $45

The price of the dress is reduced by 12% in the sale. [ 00 ‘k
(a) Work out the price of the dress in the sale. IE @

G$ x0-66 - $5Q~60

Lisa's weekly pay increases from $525 to $546

(b) Calculate her percentage pay increase.

506 -525 =2I 2l 160 = LD
528

Q16. The cost of alitre of petrol in Hong Kong is 17.50 Hong Kong dollars ($).
Chen buys 25 litres of petrol in Hong Kong.

The only money he has to pay with are $50 notes.

(@) What is the smallest number of $50 notes he needs?

25x12-8 = 4L379-80 9 naes .

He pays with the smallest number of $50 notes.

(b) Work out how much change he should get.
AxGO 4SO
L$C- 3156 = £12:S0

Q17. Amit invests 15000 rupees.
At the end of one year, his investment has increased by 7%%

(a) Work out the value of Amit's investment at the end of one year.

(SO0 ¥ 1038 = 16125 (s -

Priya invests a sum of money ot an interest rate of 8% per year. (Og& ?o
At the end of one year, the interest she receives is 1800 rupees.

(b) Work out the value of Priya's investment at the end of one year.

LEOO x (-0 = 24300 fopueo
Q18. (a) Simplify 8dx7d S6d 2

(b) Expand 4(3e-5) 12e -20
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(3)

(3)

(2)

(2)
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(c) Factorise 2 —2F —p C@ ’2)

(1)

(2)
(d) H=g*+ 6g Work out the value of Hwhen g=2
8t H <20 (2)
Q19. The diagram shows a shape P, and a i
shape Q.
—4
Describe fully the single transformation | P
which maps shape P onto shape Q. L2
rotofL.on
o ) >
90" doduwue 0 5 1o

cwve@»oj -,

Q20. The mean of four numbers is 2.6 One of the four numbers is §

Tota = 2-6xL= 10 ¢

Find the mean of the other three numbers. )

10-G-8< S -4 .(jfhaothe 3
S>3 =18

Q21. Rayna has a fair 4-sided spinner. The spinner canlandon 3, 5,7 or 9

Rayna spins the spinner 20 times. She records the score for each spin.
Here are her scores.

(a) Complete the frequency table for these results.
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Score Tally Frequency

3 1y (3

At S
7 I 4
0 UM L E:

(b) Write down the mode of her scores.

q (1)

(c) Find the range of her scores.

qQ-3=-6

N

(2)

(1)

Rayna says that 3, 5,7 and ¢ are all prime numbers.

(d) Explain why Rayna is wrong.
Qisvot prome. . - msaww%s (1)

Rayna now spins her spinner twice. She adds the two numbers together to get the total.

(e) Complete the table to show the total for each possible outcome. Five of the totals have been done
for you.
1st spin
3 5 7 9
3 6 B 10 12
5 9 10 2 |
2nd spin
7 10 pA ‘q' ‘&
9 1 G 16 |8

(2)

Rayna spins the spinner twice.

(f) (i) Write down the probability that she will get a total of 10 3/[6

(i) Write down the probability that she will get a total greater than 12

60!.3

(6 8 (3)
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Q22. Here is the straight line L drawn on a grid. va
5
L
Find an equation for L. :

s ’Q,Ta'i' l -3

Q23. Here are three straight lines A, B and C drawn on a grid.

Write down an equation for each of these three straight lines.

(3)
Q24. The diagram shows 7 shapes, A, B, C, D, E, F and G, on a centimetre square grid.
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(c) Mark an obtuse angle on one of the shapes. Label your angle x. Cm PD O/%Q))

(d) How many lines of symmetry has shape B2 L[.

(e) Work out the area of shape C. ‘O

Q25.

The diagram shows a pentagon ABCDE.
DCis parallel to AB.

The size of an exterior angle at A is 67°
The size of an exterior angle at Bis 112°
The size of an exterior angle at Cis x°

The size of an exterior angle at Dis 74°
The size of an exterior angle at Fis y°

(a) (i) Work out the value of x.

(i) Work out the value of y.

560-6:“&"'68* llZfb"\) :3430

(b) Work out the sum of the interior angles of the pentagon ABCDE.
0
SO
/
Q26
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Diagram NOT
accurately drawn

(4)

(2)



Diagram NOT

12.8 cm accurately drawn
X cm

- § 35 (504)

Work out the value of x.
Give your answer correct to 3 significant figures.

(3)
Q27.

Diagram NOT
accurately drawn

~1
ax: o8 83
8.3 cm Ci ”6
Work out the value of x. - Qq to

Give your answer correct to 1decimal place.

(3)

Q28. Work out the size of each exterior angle of a regular polygon with 15 sides.

30 = 24

(2)

Q29(a) Expand and simplify 3(2x —5) — 4(x+ 3)

b - 15 -uwac -2 = 22 . 29
(2)
(b) Expand and simplify (y + 7)(y + 2)

¢ Qoc ¢ G
J 2)

Q47. Work out the size of an exterior angle of a regular polygon with 8 sides.

308 =48°

(2)
Q30.
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Diagram NOT
accurately drawn

13 cm

10 em

The diagram shows a prism.

The cross-section of the prism is an isosceles triangle.

The lengths of the sides of the triangle are 13 cm, 13 cm and 10 cm.
The perpendicular height of the triangle is 12 cm.

The length of the prism is 8 cm.

Work out the total surface area of the prism.

«Q . 2x ($10x 12) - 2x80 =120
ém 0 = & < 80 on?

Zodo (] x 15x8 = ZJ60ms
408 ?

(3)

Q31. The diagram shows a cuboid and a triangular prism.

Diagram NOT

accurately drawn

7.5cm

xcm 5
cm
10cm

The volume of the cuboid is equal to the volume of the triangular prism.
Work out the value of x.
cwkoad Ox 42038
= ASomS = 1?-52¢C
1S =35 So JC—-"%;_SS: L8emisy

pn/u'n».L > xq xS
2.

Q32. (a) Multiply out  6(n—2)

6ﬂ-|/2 ()
(b) Factorise p> — 5p
p(o- 5) 2)

(c) Solve 7"2—_3 = x

e -32x Sc<3 =% .04
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2—=
(b) Show that 4 2 14

|~

a 3 q
- T - - X
¢z &

Q34. Solve the simultaneous equations

1 28

y—2x=56

y+2x=6
+ 0@-’02
56

J

Q35. (a) Factorise 22 -7++3

(3t-1(¢ -3)
(b) Rearrange the formula y = a - bx? to make x the subject.
“J
2 < _ QL ,ﬂ

b

c-Y

N O

2
ba -~

3

(3)

(2)

(3)

x=0 dré
(5)

(2)

(3)
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